Name Date
Mr. Schlansky Pre Calculus

Trigonometric Ratios with Identities

Functions of the Double Angle
sin 24 = 2sin A cos A
cos 24 = cos?> A —sin*> 4

cos24 =2cos?A-1

Functions of the Sum of Two Angles cos24 =1-2sin’4
sin (4 + B) =sin 4 cos B+ cos Asin B tan 24 = 2 tan j
cos (4 + B) = cos A cos B—sin A sin B I —tan® 4
ity (A = tan 4 +tan B Functions of the Half Angle
o | —tan A tan B —_—
sinl 4 =44 1=cos 4
Functions of the Difference of Two Angles e - 2
sin (4 — B) = sin 4 cos B—cos A sin B B P [1 + cos 4
cos (A — B) = cos A cos B+ sin 4sin B 2 _\ )
tan 4 —tan B P E——
P’ 2 = | — COS
e i I + tan 4 tan B tant 4=+ | A -ae 8
2 \ 1 +cos 4

1.If sin4 = % , and 4 is an angle in quadrant I, find the value of cos2A4.

2. If cosB = g, and 0 < x < ﬂ, find the value of cos260.

3. If sinx = i, and %

5 < x < m, find the value of sin 2x.



4. IfsinB<0 and tanB = —%, find the value of tan 2B.

5. If sin@z%, and cos@ <0, find sin%@.

6. If tan@z—g, and sin@ >0, find cos%@.



7. If sin¢9:—§, and 7r<0<37ﬂ, find tan%@.

8. If cscé’:%, and cos@ <0, find cos%é’.

9 Ifsind == and cosB = -

5 13 and angles 4 and B are positive acute angles, find cos(4 — B)



10. If angle 4 terminates in quadrant [ with cos 4 = 8

7 and angle B terminates in quadrant III

with tan B = %, find the value of sin(4 + B).
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11.If tan x = —=- and cosy = ——, and x terminates in quadrant II and y terminates in
4 y \/E q y

quadrant IV, find the value of tan(x — y).
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12. If7<A<nw1thsmA—fandT<B<2nw1thsmB— 13

sin(4 — B).

find the value of



